2019

Adeept Smart Robot Kit For Arduino

®
www.adeept.com @

support@adeept.com
Adeept



G

Adeept
www.adeept.com

Warning

Please pay attention to the following issues:

® There are small components included in this kit. Make sure it's not reachable for children
under 6 years old in case swallowing mistakenly. If accident occurs, please seek medical help
immediately.

® Parental guidance recommended for young children.

Do not place the products or the components near any AC socket or other circuits to avoid
electric shock.

Keep away from any liquid or flame when using the product.

Store the product in amicable environment, avoid extreme temperature and humidity.
Turn off the power after use.

Do not touch the moving part of the product or interfere it with any physical objects or
signals in case damages to the product or fire generated by over heat.

Product may be warm during use.

Do not reverse the cathode and anode of the power in case damages to the circuit.
Refer to instructions before use.

Handle the product gently, avoid vigorous shaking or slamming.

About

Adeept is a technical service team of open source software and hardware. Dedicated to applying
the Internet and the latest industrial technology in open source area, we strive to provide the
best hardware support and software service for general makers and electronic enthusiasts
around the world. We aim to create infinite possibilities with sharing. No matter what field you
are in, we can lead you into the electronic world and bring your ideas into reality.

The code and manual of our product are open source. You can check on our website:
http://www.adeept.com/

If you have any problems, feel free to send an email for technical support and assistance:
support@adeept.com

On weekdays, we usually will reply within 24 hours. Also welcome to post in our official forum:
http://www.adeept.com/forum/

Copyright

This user manual and code can be used for learning, DIY, refitting, etc., except for commercial
purpose. The Adeept Company owns all rights of contents in the manual, including but not
limited to texts, images, data, etc. Any distribution or printing should be implemented with the
permission of the Company, or it will be deemed illegal.


http://www.adeept.com/
mailto:support@adeept.com
http://www.adeept.com/forum/

www.adeept.com

Contents

(60 01 =] 01 £ TP OO P PP PPP TS PPPPPPPPPP 3
oY a0 o Yol =T | Al X 1] SO UUUUPRN 4
Yol Y [ ol o] = o PSP PRSI 4
AN AV =Tl o Y[ =T VA =Y £ SRRSO 5
B 1= d o | (ol o T o £SO PROPPPRRPPN 5
R oo ] [OOSR 7
T B 0T Y o =T =To I 2= £ OSSR 7
2. INSTAll the SOTEWAIE. ...ttt sttt e bt e st e e s e e e 8
2.1.INStall the ArdUINO IDE.......oi ittt ettt et e ettt e et e et e e bte e et e e eens 8
2.2.InStall the [IDrary files.....oi e e e e e e e esaae e e e e aaeeeeennes 10
2.3, INSTAI TNE AV ..ttt ettt ettt e e e e 14
D o1 (o Y- Yol o] oY =4 [ o R UTSRTP 16
BLASSEIMDIY ..ttt ettt e et e e hb e e e bt e e e bt e e s bt e eanteeeaneeeanee 21
3.1.Preparations before AsSemMBIY........ooo i 21
I Y= Vo e 1] o TN {4 o - SOOI UPSRTSNY 23
3.3 Install and ReMOVE Batteries. ... .coiuiiiiiiiieiieeeiie ettt ettt 24
3.4 ASSEMDIE the 188S....couiiieiiiiiee ettt e 27
3.5 Assemble the other parts of the robot.........ccuueeiiiiiiii e 35
4. Program debUGEING.......coouiiiiiiiiiieet ettt ettt s ettt st et 51
5.Install the upper computer control software Python..........cccoouvvieiiciiiii e, 52
5. 1.DOWNI0AA SOFtWAIE. ..ottt ettt ettt esaee e s 52
5.2, CoNrOl the FODOL. ... ittt et 56
(N AT VYo T o PSP SRSTURR 58



&

Adeept
www.adeept.com

1.Component List
1.1.Acrylic Plates

AO-1 m

AO-1

1PCS

1PCS

AO-1

1PCS

[ l AO-1
AO-1 AO-1 1PCS
1PCS
E Ao_l
AO-1
Ao 1pPCS
apcs
8PCS .
AO-1
A1 AO-1
2PCs
7PCS 5PCS Ac-L

The acrylic plates are fragile, so please be careful when assembling them in case of breaking.
The acrylic plate is covered with a layer of protective film. You need to remove it first.Some holes
in the acrylic may have residues, so you need to clean them before use.




@

Adeept
www.adeept.com

1.2.Machinery Parts
M?2 M3 M2*8 M2*14 M2.5*8
Nut Nut Screw Screw Screw

X28
-

www.adeept.com

-

www.adeept.com

X21

i X24

www.adeept.com

1 .

www.adeept.com

X14

www.adeept.com

M3*8

Screw

X36

www.adeept.com

M3*10

Screw

X19

www.adeept.com

M3*15
Nylon

Standoff
X4

www.adeept.com

M3*20

Nylon

Standoff
X4

www.adeept.com

M3%*22

Nylon

Standoff
X4

www.adeept.com

M3*40

Nylon

Standoff
X6

www.adeept.com

M3*8
Countersunk
Head
Screw

X2

www.adeept.com

e

M2.5*%4
Screw

X2

www.adeept.com

M1.7*6*6

Self-tapping
jam’s

% X12

www.adeept.com

Screw

M1.4*6
Self-tapping
Screw

-,
C% X4

www.adeept.com

M2*6
Copper

Standoff
X4

www.adeept.com

M2.5*11
Copper

‘Sta ndoff
X2

www.adeept.com

1.3.Electronic Parts

Esp-8266 WiFi Module X1

Servo X14




&

Adeept
www.adeept.com

MPU-6050 X1

Adeept Ultrasonic Module X1

AdeeptPixie X1

18650 Battery Holder Set X1

WS2812 LED Module X2

UOIBAOUU| S}08L8d bule
EoEoRm
! » ¢ N / N

woo'jdespe mmm

3-Pin Wire X2

4-PIN Wire-1 X1

Female to Female Dupont Wire

. e

X10

IR Reciver x1

IR Receiver
['J
(S

3. gt

Remote Controller x1

4-Pin Wire-2 X1

=S




@

Adeept
www.adeept.com

1.4.Tools

Cross Screwdriver X1 Cross Socket wrench X1

Large Cross-head Screwdriver X1

Flathead Screwdriver X1

Winding Pipe X1  300mm*2

o _

1.5.Self-prepared Parts

18650 Battery X2

18650 battery specification:

It is recommended to use lithium battery above 3000mAh and without overcurrent
protection. The power supply current requirement is above 3A. Using 18650 lithium
battery with overcurrent protection function, 18650 battery whose capacity is less than
1700mAnh, 18650 battery specially for strong-light flashlight, 18650 battery with power
shortage or counterfeit lithium battery produced by informal manufacturers will cause the
unstable work of the robot,power cut and even damage to the Raspberry Pi and robot.
The robot can be turned on normally,but the robot will automatically restart or shut down
after, also because of the problem caused by the 18650 battery.




&

Adeept
www.adeept.com

[ @ Arcuino - Home
€ > C {d & httpsy//wwwarduino.cc

ARDUINO

Terms Of Service

NEWSLETTER

2. Install the software
2.1.Install the Arduino IDE

1.Type the arduino.cc in the browser and download the arduino IDE.

HOME

STORE

Privacy Policy
ENTER YOUR EMAIL TO SIGN UP SUBSCRIBE

Contact Us
About Us
Distributors
Careers

Security

ittps://wsew arduino.cc/en/Mai

C Sl

[ © Arduino - Software

<« C Y @ httpsy//www.arduino.cc/en/Main/Software

2.Download different versions depending on the operating system.

RESOURCES COMMUNITY HELP

Download the Arduino IDE

HOURLY BUILDS

ARDUINO 1.8.9
The open-source Arduino Sof

-ode and upload it to the board. It runs on
ws, Mac 05 X, and Linux. The environment
in Java and based on Processing and other

Windows installer, for Windows XP and up
Windows zip fle for non admin install

Windows app Requires Win 810r10

£) makes it easy to GetH

s

- Mac OS X10:8 Mountain Lion or newer

E:
“Tnis software can be used with any Arduino board, Linux 32 bits

Refer to the Getting Started page for Installation
inscructions

Downloag a preview of the incoming release with tre most

updated features and bugfies.

Windows

Mac 05 X (Mac 0SX Mouncain Lion or ater)

Linux 32 b, Linux 64 bit, Linux ARM, Linux ARM64.

Linux 64 bits
Linux ARM 32 bits
Linux ARM 64 bits
Release Notes

Source Code
Checksums (shasi2)

BETA BUILDS

Download the Beta Version of the Arduino IDE with
‘experimental features, This version should NOT be used in
production.

Windows
Mac OX (Mac 05X Mountain Lion or later)
Linux 32 bit, Linux 64 bit, Linux ARM, Linux ARM64

Qa @

SIGN IN

% *x @O0




&
Adeept
www.adeept.com

3.Install , remember your installation directory.
Arduino ﬁétupt License mm = @ ||g]
.:: Pleasze review the license agreement before installing Arduino. If you

accept all terms of the agreement, did: I Agree.

GMU LESSER. GEMERAL PUBLIC LICEMSE -
Version 3, 29 June 2007 l—
Copyright (C) 2007 Free Software Foundation, Inc, <http://fsf.orgl=

Everyone is permitted to copy and distribute verbatim copies of this license
document, but changing it is not allowed,

This version of the GNU Lesser General Public License incorporates the terms

and conditions of version 3 of the GNU General Public License, supplemented
by the additional permissions listed below.

-

Cancel | Mullsoft Install System wi0 I Agree

€9 Arduino Setup: Installation Options o] B (]

Chedk the components you want to install and uncheck the components

you don't want to install, Click Mext to continue.

Select components to install: |Falinstall Arduine software
Install USE driver
Create Start Menu shortout
Create Desktop shortout
Assodate .ino files

Space required: 432, 4B

Cancel | Mullsaft Install System v3.0 < Back | Mext =

( remember your installation directory )
loc) Arduino Setup: Installat llation Folder

.:: Setup will install Arduing in the following folder. To install in a different

folder, dick Browse and select another folder. Clidk Install to start the
installation.

{ Destination Folder

I \Program Files {x86) \Arduino Browse. .. |

Space required: 482, 4VEB

Cancel | Mullsofe Install System «3.0 < Back ﬁ




G

Adeept
www.adeept.com

@Arduino Setup: Installing El = =

@ Extract: ranlib.exe
.:::E . |
Show details

= | |

@ Arduino Setup: Completed [seom|| E || 23

@ Completed
Q=

2.2. Install the library files

Enter https://www.adeept.com/learn/ on browser, and download the code, library

files and driver file.


https://www.adeept.com/learn/

@

Adeept
www.adeept.com

e e CR o ]

- & B https://vvw.adeept.com/carmy

o- v s

[@ et -Leom rder %

Adeept

¥ Robot Kit

& Search

Store

rum Blog

Learn Videos Wiki

PiCar-A WiFi 3WD Smart
% u Robot Car Kit for
tem Code: ADROI1

Arduino

Adeept RaspClaws Spider
Robot Kit for RPI
Item Code: ADRO1S

Mars Rover PiCar-B Smart
Robot Car Kit for Raspber
Ttem Code: ADROL2

2-Wheel Self-Balancing
Upright Car Robot Kit for A
Ttem Code: ADAO24

4WD Remote Control
Smart Car Kit for Arduino
Item Code: ADAO17

Adeept RaspArm Robotic
Arm Kit for RPi

B
E)
Bl
E]
E]

Adeept AWR 4WD Smart
Car Kit for RPI
Tem Code: ADRO14

Adeept New Robotic Arm
Kit(v3.0) for Arduino
Item Code: ADA31

3WD Bluetooth Smart
Robot Car Kit for Arduino
Item Code: ADA021

Adeept Quadruped Robot
Kit for Arduino
Item Code: ADA032

Adeept DarkPaw Spider
Robot Kit for RPi

B)=tr
Bl
El
El

Adeept RaspTank Smart
Robot Car Kit for RPI
Item Code: ADRO13

Omnidirectional Wheels
Smart Car Kit for Arduino
Item Code: ADA030

Hexapod Spider Robot Kit
for Arduino
Ttem Code: ADA022

-—

Indoor Environment
Monitoring Kit | Weather
Item Code: ADA01S

Ultimate Starter Kit for
% | o o>
Item Code: ADA0OS

Ultrasonic Distance Sensor

RFID Starter Kit for
Arduino UNO R3
Item Code: ADA0OS

Starter Kit for Arduino

[ ovo s

Super Starter Kit for
Arduino UNO R3
Item Code: ADAOG2

Ultimate Starter Kit for
Arduino Mega2560
tem Code: ADAOL0

B
B

Project 1602 LCD Starter
Kit for Arduino
Item Code: ADAGOS

Primary Starter Kit for
Arduino UNO R3 with 27 ¥

Starter Kit for Arduino

Copy the four library files Adafruit_NeoPixel, Servo,IRremote and SR04 to the libraries
file in the installation directory of Arduino IDE.

File Commands Tools Favorites Options Help
Add ExractTo Test View Deleste Fnd Wizard Info

8 quadruped_robot.zip - ZIP archive, unpacked size 3,492,446 bytes

0 o

VirusScan Comment

Size Packed CRC32

|/ IRremote
| quadruped_ro..
|\ Adafruit_ NeoPi...
L SR04

1 Servo

B Arduino GULrar

B Adeept driver...

11,602
2,811,869

11,602 O04FEFAAS
2,811,869 8B7BAC.

Total 5 folders and 2,823,471 bytes in 2 files




&

Adeept
www.adeept.com

This destination already contains a folder named 'Servo’.

- 1.
-&‘b If any files have the sarme names, you will be asked if you want to replace
those files.

Do you still want to merge this folder

Servo
Date created: 4/1/2019 912 AR

with this one?

Servo
Date created: 7,/9/2019 9:56 AM




&
Adeept
www.adeept.com

Copy File ==

There is already a file with the same name in this location.
Click the file you want to keep

- Copy and Replace
Replace the file in the destination folder with the file you are copying:
keywords.txt
keywords

(ChUsershAdministrator\Desktop.quadruped_robot\quadruped_robothi
Size: 586 bytes
Date modified: 11/21,/2018 10:12 PM

= Don't copy
Me files will be changed. Leave this file in the destination folder:
keywords. txt
keywords (Dharduine main'Arduinclibraries\Servo)
Size: 586 bytes
Date modified: 11/21,/2018 10:12 PM

< Copy, but keep both files
The file you are copying will be renamed "keywords (2).td"

[] Do this for the next 2 conflicts ’ Skip ‘ [ PR ]
=0 NR
@—Ov| . = Software (D:) » arduino main » Arduino » libraries » v|¢f|| Search libraries pl
File Edit View Tools Help
Organize = = Open Burn Mew folder 2 ~ [ @
% Downloads * | | Adafruit NeoPixel | | Robot_Control

= Recent Places | b IRremote . Robot_Motor

| L Sﬁ(ﬁ_l | RobotlRremote
:ﬁ_ﬁLibraries .-_._,WFi_S-hield-master j 5D
r_‘_f-'] Documents | Phoenix_Driver_AX12 |_,m!
J’ Music . Phoenix % Space_brew‘f'un
[E=] Pictures . Phoeni_Input_Commander | Stepper
| . Adafruit_Circuit_Playground .. Temboo
3 ., Bridge di TFT
., Esplora L. WiFi
*@ Homegroup |, Ethernet || keep
.. Firmata
18 Computer || GSM
£ System (C:) L4 | Keyboard
—a Software (D:) | LiquidCrystal
| Mouse
:I‘l Ml samels i
4 items selected Date modified: 4/1/2019 9:12 AM - 7/8/2019 6:31 PM
»



&

Adeept
www.adeept.com

2.3.Install the driver

1.Connect the control board and open Arduino, you will see the serial port is not accessible, meaning
that you have not installed the serial port driver.

Auto Format CtrleT
Archive Sketch
sketch_may14 Fix Encoding & Reload

void setup() Manage Libraries... Ctrl+Shift+1
¢ put your

Serial Monitor Ctrl+Shift«M
} Serial Plotter Ctrl+Shift+L

ota 1680 WFiL01 / WiFININA Firmware Updater

1 PUE IOUE g "Arduino/Genuino Uno”

Port
Get Board Info

Programmer: "AVRISP midl"

Burn Bootloader

559 PM
5/14/2019

2.0pen the driver program, install corresponding driver according to the computer operating system.

Lo =E=]

UO [0+ Adeept driver » [ 3 ][ Search Adeept driver

File Edit View Tools Help

Organize ¥ Include in library Share with v Burn New folder

Mame Date modified Type

¢ Favorites =
B Deskiop | Adeept driver introduction 4/26/2019237PM  Text Document
& Downloads 8 CH341SER_ANDROID 4/26/2019230 PM  HFIE 7P FEEEIAF
"] Recent Places § 4/26/2019230PM  IFE
Y ZIP EERSTAF
i Libraries 45 CHM1SER Windows. /250 : Application

g —_— Android
Music 5
] Pictures Linux

B videos mac
& Homegroup Windows
% Computer

&L system (€9
a Software (D)

Y 5 ftems
’ !

www.adeept.com

6:04 PM
5/14/2019




&
3. Click to install.

Adeept
www.adeept.com

Ob [+ Adecpt driver »
File Edit View Tools Help
Organize v Open Burn.

New folder
¢ Favorites Mame

<[ 42 ][ Search Adeept driver
Share with +

Date modified
B Desktop

Type
|| Adeept driver introduction 4/26/2019 2:37 PM

l¢ Downloads 8 CH341SER_ANDROID 4/26/2019 230 PM
‘] Recent Places 8 CHB4LSER_LINUX 4/26/2019 2:30 PM
T Libraries

===

Tex Document 1KB
2360 KB

WE ZIP EdEsfF

YHE 1P FESESTIT
Qocumenty

KB
149 KB
277 KB

Device Driver Install / UnInstall

Application
select INF [CH3H1SER . TNF]

\ICH.CH
INSTALL
P |__ USB-SERIAL CH3ua
I

__ 81/38/2819,

B videos

3.5.2019
1%l Computer

&L, System (C:
ard it
Sho

s Software (

CH341SER_Windows
Application
UsSE

Date modified: 4/26/2019 2:30 PM

Date created: 4/26/2019 2:30 PM
Size: 276 KB

i e

5/14/2019

OD [0+ Adecpt driver »

File Edit View Tools Help

+ [42 ][ Search Adeept driver
Organize v Open. Share with «

Bum  New falder
7 Faverites
[ Desktop

Date modified
|| Adeept driver introduction
18 Downloads

Name

Type
4/26/2019 2:37 PM
8 CH341SER_ANDROID 4/26/20192:30PM  § A
] Recent Places 8 CH341SER LINUX 4/26/2019 2:30 PM £ 7P EaEAt
F Drversetn 069 Sl i
9 Libraries T T Application
Device Driver Install / UnInstall
|| Document]
& Music Select IMI
=] Pictures
E# Videos

Text Document

INSTAL|

lINlNSTé @ Driver install success!

o Homegroup| |
18 Computer LELE
&, system (C:

success!!!

CH341SER Windows Date modified: 4/26/2019 2:30 PM
Application
UsE

Size: 276 KB

3.5.2619

Date created: 4/26/2019 2:30 PM

07 PM
5/14/2019



&

Adeept
www.adeept.com

4.Now you will find the Arduino serial port is accessible (different computer configuration has different serial
port).

0y

Computer

(E9) sketch_maylda | Arduino 189
File Edit Sketch

Aute Format
Archive Sketch
Skeichemayld Fix Encoding & Reload
void setup() Manage Libraries... Ctrl+Shift+1
HBAE R i Manitor Ctrl+Shift=M
Serial Plotter Ctrl+Shift-L

yeid 1oop(y WIFILOL/WIFININA Firmware Updater

Board: "Arduino/Genuino Uno”
Port t Serial ports
Get Board Info coms7
Programmer: "AVRISP mkdl"

Burn Bootloader

6:08 PM

sl S5/1472019

2.4. Upload program.

1.Turn on the power and switch program upload to 0.




2.0pen Arduino software and select the control board.

Auto Format culeT
Archive Sketch
Fix Encoding & Reload

Manage Libraries.. Culsshifts]
Seril Moritor CuleshiftsM
Serial Plotter CuleshiftsL

‘WIFi101 / WIFININA Firmware Updater

Board: *Arduino/Genuino Uno* 1 Boards Manager..
Port: "COM108" '

Get Board Info Arduino ards

Programmer: "AVRISP milI" 1 Arduino Yan

Burn Bootloader © | Arduino/Genuino Uno

Arduino Duemilanve or Diecimila
Arduino Nano

motorspeed = 20; Arduino/Genuino Mega or Mega 2560
€ ar angle_a; Arduine Mega ADK.
7 // char range Arduine Leonardo

// char a,b,

Arduine Leonardo ETH

har movespeed = 20; Arduino/Genuino Micro
anglerange Arduino Esplora
Ardhine Mini
r angle0 = 105; Arduine Ethernet
95; Arduine Fio
Arduino 8T

Liypad Arduino USB
LiPad Ardino

Arduino Pro or Pro Mini
Arduino NG or older
Arduino Robot Control
Arduino Robot Motor
Arduine Gemma

‘Adafrut Circut Playground
Arduino Yin Mini

Arduino Industrial 101

r angle_judge_min = -5; Linino One

Arduine Uno WiFi

£598266 Modules
Generic ESP8266 Module
Generic ESPE285 Module
ESPDuino (ESP-13 Module)
Adafruit HUZZAH ESP8266.
ESPresso Lite 10

ESPresso Lite 20
v

3.Select serial port(different computer configuration has different serial port)

Fie Edt Sketch Help

Auto Format culeT
Archive Sketch
Fix Enceding & Reload

1 Se|  Manage Libraries.. Culishifts]
Se|  Serial Monitor CulshiftsM
Serial Plotter ColsshiftsL

WIFIL01 / WIFININA Firmware Updater

Board: *Arduino/Genuino Uno® B
Port: "COM108" { Serial ports
Get Board Info com1

v | com08

Programmer: "AVRISP mkll" i

movespeed
2t anglerange =

r
5 L OFN 0D

2019/7/8 |



&

Adeept
www.adeept.com

5.Upload program.
Two sets of code are provided, the infrared remote control (four_feet_robot_wifi) and wifi control
(four_feet_robot_infrared). Upload the code according to your need.

quadruped ol

File Edit Sketch Tools Help

ayfgped_iobot_wi
Servo s3;
Servo s4; 1=

servo s5;

Servo s6;
ervo s7;
. Servo s8;

servo s9;
servo s10;

Servo sil;

anglerange =4;

angle0 = 105;
anglel = 95;
angle2 = 90;
angle3 = 103;
angled = 115;
angles = 90;
angle6 = 85;
angle? = 85;

angle8 = 90;
angle9 = 75;
anglel0 = 70;
anglell = 90;
angle_judge_max = 5;
angle_judge_min = -5;

Because the servo has a certain angle error, when you finish installing the servo, you may find that the four legs

of the robot cannot stand on the same level,and you need to fine-tune the angle through the program. (The
variable angle0-angle11 corresponds to 12 servos respectively)

5 BT Rcin L5 77«
File Edit Sketch Tools Help

angle_judge
anglerange = 3;

angle_judge_max =
angle_judge_min = -5;

PIN Al

led_numbers 6

TRIG_PIN A2

e ECHO_PIN A3

uit_NeoPixel strip = Adafruit NeoPixel (led_numbers, PIN, NEO_GRB
SR04 sr04 = SR04 (ECHO_PIN, TRIG_PIN);

//Declaring some global variables

gyro_x, gyro_y, gyro_zi

g acc_x, acc_y, acc_z, acc_total_vector;
temperature;

g gyro_x_cal, gyro_y_cal, gyro_z_cal;
ng loop_timer;
t lcd_loop_counter;

e nitch

R B} e S

~
2019/7/9



@

Adeept

www.adeept.com

6.After uploading, turn off the power and switch to 1, and then turn it on.

Run the program: LED is yellow when turned on.




&

Adeept
www.adeept.com

After the Wi-Fi and attitude sensor are debugged (about 30 second), LED changes to blue.

Now you can start to control the robot. (Note: After turning on the power, lay flat the robot when the LED does
not turn to blue yet. Do not move the robot during the process because the attitude sensor is calibrating and
reading the data.)

Install the servo: When the LED turns blue, install the servo (do not turn off the power).



Ade

www.adeept.com

3.Assembly

3.1.Preparations before Assembly

1.Connect the Adeept Ultrasonic Module with 4-Pin wire.

Assemble the following components

Adeept Ultrasonic Module x1 ]

4-Pin wire x1 ]

Effect diagram after assembling

Connect the WS2812 LED Module

Please note that the end marked with white strip is the signal input, and the end without

white strip is the signal output.
The end marked with white strip is the

signal input

The connection between two
WS2812 LED

www adeept com

| |
N

1 ¥

Sharing Perfects Innovation

www.adeept.com

[FIEIE
o EIEIE] ®

1|
mIlElg)

E=I=]
® 55y @

LUOD'ld@SpE MMM




&

Adeept
www.adeept.com

Connect Esp-8266 WiFi Module

Connect Female to Female Dupont Wire and IR Reciver x1

Connect 4PIN-2 and MPU-6050r x1




@

Adeept
www.adeept.com

3.2. Servo debugging

Connect 18650 Battery Holder Set and Arduino HAT.

Note that the switch is "OFF". ]




&

Adeept
www.adeept.com

3.3 Install and Remove Batteries

1.Put two 18650 batteries in 18650 Battery Holder Set according to the following method.

Take out 1 ribbons and 1 batteries.

Roll one end of the ribbon to let through a battery and fix.

Insert the batteries into the rings - ribbon closer to the anode.

Install the batteries into the holder based on the pole.

To remove the batteries, just pull the ribbon and take them out.

—




@
Adeept

www.adeept.com

Assemble the following components.

M3*10 Screw
X3

Effect diagram after assembling.




www.adeept.com

In the following installation process, it is required to connect the servos to the AdeeptPixie The
AdeeptPixie will automatically check the servo angle and rotate it to the appropriate position.

When

switch to "on" and switch to "off"

debugging the servo,

after the debug is completed.

Connect the servo to D2-D13 of the interfaces in

the red box at the angle shown in the figure.




www.adeept.com

3.4 Assemble the legs

The following is the installation of one of the legs. For the other three legs, please refer to the

following installation.

Assemble the following components.

OAJES IO
01d JBiho]

Effect diagram after assembling.




G

Adeept

www.adeept.com

Assemble the following components.

M3*20 Nylon Standoff

Effect diagram after assembling.




www.adeept.com

Assemble the servo.

Assemble the following components.

Effect diagram after assembling.

Tower Pro

Micro serve




G

Adeept

www.adeept.com

Assemble the following components.

Effect diagram after assembling.




www.adeept.com

Assemble the rocker arm.

Assemble the following components.

Servo rocker
X2

Arm

M1.7%6*6
self-tapping Screw
X2

Effect diagram after assembling.




&

Adeept
www.adeept.com

Assemble the following components.

Effect diagram after assembling.




@

Adeept
www.adeept.com

Assemble the following components.

M2.5*8 Screw
X2

Effect diagram after assembling.




G

depat
Adeept

www.adeept.com

The above is the installation of the leg on one side of the robot. For the installation of the other
side of the leg, refer to the picture below (the legs on both sides are symmetrical).

& &




@

Adeept
www.adeept.com

3.5 Assemble the other parts of the robot

1.Assemble the battery holder.

Assemble the following components.

M3*8
Head Screw
X1

Countersunk

S

Effect diagram after assembling.




&

Adeept
www.adeept.com

Install the rocker arm.

Assemble the following components.

M1.7*6*6
Self-tapping
screw x4

Servo rocker
X4

Arm

Effect diagram after assembling.




@

Adeept
www.adeept.com

Assemble the following components.

M3*15 Nylon
standoff
X4

M3*8 Screw

X4

Effect diagram after assembling.




&

Adeept

www.adeept.com

Install the lights.

Assemble the following components.

M2 Nut

X4
WS2812 LED
X2

M2*6 Copper Standoff

Effect diagram after assembling.




@

Adeept
www.adeept.com

Assemble the following components.

M3*8 Screw
X6

M3*40 Nylon
Standoff X6

Effect diagram after assembling.




G

Adeept

www.adeept.com

Assemble the following components.
& P M3*8 screw

X4

MPU-6050
1

Effect diagram after assembling.




@

Adeept
www.adeept.com

Assemble the legs with the acrylic plate with the rocker arm installed (the servo needs to be in
the state of debugging)

Assemble the following components

M2.5%8 Screw

Effect diagram after assembling.




www.adeept.com

Assemble Adeept Ultrasonic Module.

Assemble the following components.

Adeept Ultrasonic
Module X1

M1.4*6 self-tapping Screw
X4

Effect diagram after assembling.




[do9
X
<

www.adeept.com

Assemble the whole part.

Assemble the following components.

M3*8 Screw

Effect diagram after assembling.




www.adeept.com

Assemble the following components.

Effect diagram after assembling.




Ad

www.adeept.com

Connect the

robot according to the diagram.

www.adeept.com !
SIND)

Sharing Perfec

When connecting the MPU-6050 with 4-pin
wire-2, please connect different interfaces of

AdeeptPixie according to the figure.

N
Light




www.adeept.com

Assemble the following components.

M3*8 Screw
X4

Effect diagram after assembling.




@
Adeept

www.adeept.com

Assemble the following components.

M3*8 Screw X4

Effect diagram after assembling.




www.adeept.com

Assemble the following components.

M2.5*11  Copper
Standoff X2

M2.5*¥4  Screw
X2

IR Receiver X1

Effect diagram after assembling.




@
Adeept

www.adeept.com

The assembled robot connect

the servo and IR receiver

from here after finishing

assembling the robot.

Connect the servo to the
corresponding interface

according to the numbers

below.




Adeept

www.adeept.com

Connect to the interfaces from
D2 to D13 in turn according to

the servo number given above.

Connect the IR Receiver to D14 with
the Female to Female Dupont Wire
Connectto the corresponding
interfaces on AdeeptPixie according

to different colors.

GND 5V D




@
Adeept

www.adeept.com

4. Program debugging

After the assembly is completed, the error of the servo itself will cause an angle de
viation of the robot's foot. At this time, each leg of the robot needs to be adjusted
to the correct angle as shown in the following figure by modifying the program.
Only then the robot can work normally. Refer to the following link for video tutoria
I: https://www.adeept.com/video/detail-68.html



https://www.adeept.com/video/detail-68.html

www.adeept.com

5.Install the upper computer control software

Python

5.1.Download software

1.0pen the URL in your browser: https://www.python.org/downloads/

Download corresponding version according to your computer operating system:

<« X @ Python Software Foundation [US] | https://www.python.org/downloads/

Donate

About Downloads Documentation Community uccess Stories News.

Download the latest version of Python

Download Python 3

Looking for Python with a different 0S? Python for Windor

Looking for Python 2.72 See below for specifc releases

Events

Contribute to the PSF by Purchasing a PyCharm License. All proceeds benefit the PSF.

Looking for a specific release?

Python releases by version number:

Release version Retease date Ciickfor more
Python3.7.3 March 25,2019 Download Release Notes
Pythons March 15,2019 Download Release Notes
Pythons March 18,2019 Download Release No

Python2.7.18 March, 2019 Download Release Notes
Python3.7.2 Dec.24,2018 Download Release Notes
Python3.6.8 Dec.24,2018 Download Release Notes
Python3.7.1 0ct. 20,2018 Download Release Notes

<« X 3 @ Python Software Foundation [US] 274/

Full Changelog

Files
Version Operating System Description MDS Sum
Gzipped source tarball Source release 68111671e5b2dbaaefTb3ab01bf0fobe
XZ compressed source tarball Source release d33e4aae66097051c2eca45ee3604803
‘macOS 64-bit/32-bit installer Mac 0S X for Mac OS X 10.6 and later 6428b4fa7583daff1a442cbascee08e6
Windows help file Windows d63999573a2c06b2ac56cade6b4fTcd2
Windows x86-64 embeddable zip file Windows for.
Gows 5564 web-based nstaler Windows for
dows x86 embeddable zip file Windows 9fab3b81f8841879fda94133574139d8
Windows SACB029422544463064514TEI4TED
Windows x86 web-based installer Windows 1b670cfa5d317df82c30983ea371d87c
About Downloads Documentation Community Success Stories.
P it e ey
TR e ined o s o
. (oplemenations ~ PeFinges e e e De ey

@ % @ :

FlleSize  GPG
23017663 SIG
3142 si6
34898416 SIG
28082845 SIG
8131761 SIG
7504391 SIG
26680368 SIG
1362004 SIG
6741626 SIG
25663848 SIG

1320608 SIG

News

Python News
Community News
PSF News

PyCon News

Events

Python Events



https://www.python.org/downloads/

@

Adeept
www.adeept.com

2.Download completed, open the program and install Python.

Adeept

www.adeept.com

1w Am | |

5/33/:

s

Install Python 3.7.3 (64-bit)

Select Install Now to install Python with default settings, or choose
‘Customize to enable or disable features.

% Install Now
cau \ppData\Local\Programs\Python\Py

Includes IDLE, pip and documentation
Creates shorteuts and file associations

= Customize installation
Choose location and features

Install launcher for all users (recommended)

windows

www.adeept.com

BN



&

Adeept
www.adeept.com

4. Choose different installation path base on your needs.

Install Python 3.7.3 (64-bit)

Select Install Now to install Python with default settings, or choose
Customize to enable or disable features.

% Install Now

CAU \AppDataiLocal\Progs y y
Includes IDLE, pip and documentation J

Creates shortcuts and file associations

= Customize installation
Choose location and features

Install launcher for all users (recommended)
[¥] Add Python 3.7 to PATH

www.adeept.com

1AM | |

A s

Setup Progress

Installing:

Python 3.7.3 Development Libraries (64-bit)

windows

www.adeept.com

BN al (




@

Adeept
www.adeept.com

Setup was successful

Spedial thanks to Mark Hammond, without whose years of
freely shared Windows expertise, Python for Windows would
still be Python for DOS.

New to Python? Start with the online tutorial and
documentation.

See what's new in this release,

python
for
windows
www.adeept.com

a1 am |
S/B09

'l

6.0pen the software and you can control.

OO\ Ji v Arduino GUI ~ [ 4| Search Arduina GUI

File Edit View Tools Help

Organize *  Includein library v Sharewith v Bum  New folder

T Favorites 2 Name Date modified Type

B Desktop 5/20/2019 5:55PM  Python File
4 Downloads ] 5/23/2019351PM  Text Document
%] Recent Places 5/8/2019547PM  PNGimage

A Libraries
|%] Documents
& Music
] Pictures

B videos

+& Homegroup

8 Computer
& system (©)
= Software (D)

h 3 items
b




G

Adeept

www.adeept.com

= [+2][ Search Arduino GUI

folder

Date modified Type
7/4/201910:09 AM  Python File
7/5/2019502PM  Text Document
S5/8/2019547PM  PNGimage

Connect

cted

Use default IP

Right |

18 Computer
&, System (C) =

GUI info v1.0 Date modified: 7/4/201910:09 AM Date created: 5/23/2019 1553 PM
@ PyhonFie Size: 137 KB

506PM | |

= ORRORE 7o "

5.2. Control the robot.

1. Method of Wi-Fi control is as follows:

( 1 )After the LED changes to blue, connect the WIFI of ESP8266 (the name of each ESP8266WIFI
module is different, but all start with ESP).

Currently connected to:

5 BRETA

No Internet access

A d E e t Wireless Network Connection N
ESP_6762AA Connected 1]

Adeept Name: ESP_676244
Signal Strength: Excellent

ChinaMet-Weeh | Security Type: Unsecured
Radio Type: 802.11g

P-K2.4G SSID: ESP_6762AA

www.adeept.com_. R el

tmyny

3a8eMm | |
5/15/2019 | |




www.adeept.com

(2 ) Open the control software, the interface is as shown.

( 3 Enter the default IP address 192.168.4.1 of the ESP8266 in the IP input box, click the connect
button and you can control.

( 4 )You can see that there are buttons for functions of auto-stability, forward and backward, left
and right turn, attack, radar scanning and automatic obstacles avoiding. Press different buttons
can achieve different functions.

('5) 5Battery bar shows the battery level. Charge the battery when it shows red.

2.Method of infrared remote control is as follows:

Functions of buttons 2” , “4" , "“6", “8", “5” and “1” respectively are forward, left
turn, backward, right turn, self-stable, automatic obstacle avoidance.

( 1 )Note that when in self-stabilizing state, large range of motions is not recommended, and the
angle of inclination is best not to exceed 30 degrees. Otherwise the processor will misjudge,
resulting in incorrect data, if the processor misjudge,don’ t worry about it , the processor can
corretc itself and return to normal

( 2 )During the self-stabilization, if too large motion is exerted or it meets unexpected conditions,
restart the robot.

( 3 ) peration method: Press and hold W, S, A, D on the keyboard to forward, backward, turn left

and turn right. Release to stop. Click Q to enter attack mode(no need to hold it). Click E to
obstacles avoiding mode. Click F to self-stabilization mode. Click X to radar scanning mode. If
double click WSAD with mouse, the robot will be on constant motion.

( 4) Sometimes the Wi-Fi communication button may not respond, it is because that data loss
may occur during Wi-Fi transmission. You can try to press other buttons, or restart the robot.

( 5 ) The infrared remote control should be alighed with the infrared receiver. Otherwise, the
data received may be incomplete, which may lead to misjudgment.

( 6 ) When using the infrared remote control, if the LED light turns red and the color remains

unchanged for a while, that means the battery voltage is too low; And it" s normal if the LED
color changes from blue to red, and then changes back to blue. Because when all the motors
move together, the output voltage is too large, in that case, the remaining battery power
detected by the chip is too low.



www.adeept.com

6.Afterword

Thanks for purchasing our product and reading the manual! If you spot any errors or have any
ideas or questions for the product and this guide, welcome to contact us! We will correct them if
any as quickly as possible.

After completing all projects in the guide, you should have some knowledge of the Raspberry Pi
and Robot, thus you can try to change the robot into other projects by adding more Adeept
modules or changing the code for extended functions.

For more information about Arduino, Raspberry Pi, Smart car robot, or robotics, etc., please

follow our website www.adeept.com. We will introduce more cost-effective, innovative and

intriguing products!

Thanks again for choosing Adeept product and service!


http://www.adeept.com

Adeept Smart Robot Kit For Arduino

www.adeept.com -ﬁ-
support@adeept.com

Adeept



	Contents
	1.Component List
	1.1.Acrylic Plates
	1.2.Machinery Parts
	1.4.Tools
	1.5.Self-prepared Parts

	2.Install the software
	2.1.Install the Arduino IDE
	2.2. Install the library files
	2.3.Install the driver
	2.4. Upload program.

	3.Assembly
	3.1.Preparations before Assembly
	3.2. Servo debugging
	3.3 Install and Remove Batteries
	3.4 Assemble the legs
	3.5 Assemble the other parts of the robot

	5.Install the upper computer control software Pyth
	5.1.Download software
	5.2. Control the robot.

	6.Afterword

